Complex Analysis - Fall 2019-20 - M. Kolountzakis

UNIVERSITY OF CRETE — DEPARTMENT OF MATHEMATICS AND APPLIED MATHEMATICS
Problems No 2

. Find one value of argz.
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. Using the polar form show that

(i—1)" = =8(1 +1).

. Find the following roots in polar coordinates and show them geometrically.

(20)'2, (=)', (=16)'/4, 80,

. Use de Moivre’s formula to compute cos 46 as a function of cos®,sin 6.
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. If z€ C\ {1} and n € N show that 1 + 2+ 2* + .-+ 2" = ————_ Then use this to show the formula
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. Which curve in the complex plane is described by each of the following parametrizations?

2(t) =14+i+ V2", 0<t<2m,
wt)=1+i+ (i—1)t, teR,

(t)

u(ty=it—(1—1t), 0<t<I,
s(t)y=t+1t%, teR,
St)=it—t* tecR.



